2016 0 10 120 (20160 10 13000)
ooooo
kotaro@math.titech.ac.jp

oooobooooo 11

goooo

e 00 10-1: 0OOODODO 25a*b*c*/(a'? + b0 + ¢10)2

e 00 10-2: 0 (00 B-600)

00 103: 000000000 ADOODODO %1,0),%0,1) 00000000000000
e 00 10-4: p,, p, 0O0DODOOODO OOOODOOOOODCOOODO

00 10-5: 0000000000000 p(u,v) = (coshucoswv, coshusinv, sinh u)0

_ [ cos(z—y) sin(z—y)
0000000 pl€,n) = (Wwfn m,tan(z+y)).

gogoboboood

e J00OO0O0DOOOCOOUOOODOODOOOOOO10-50000
00000000 OoooO0oO0 B-8.600 (uw,v) D00D0ODD0ODu=s+tv=s—t00000000000 (s,t) 0
ooooooooooooo

e J0JI0I0IOIOOOODOOOOOOOOODOOOODOOOOOOODOOOOOOOOOOODOODODOOO
00000000 0DoooDoo/oooDooo

e JOOOOOO 0000000d me, too.

goooo

000 O4=4upu+0p, 000 400000000000000000000O00OO0OD000O0O0 000000
00000000000000000000000

0000 000O00000000000000000000000000000000000000000000000
pe,py 0000000000000000000000000000000C

000 000000 00000000000000000000000000 000000000000000 B-40

000 000000 0000000000000000000000000000007?

0000 0000000000000000000000000000 00000000 B4000000000000

000 0000000O0000000O0000000O000 00000000000000000000000000

000 10-300000000000000 ds®=Edu®>+Gdv?, II =Ldu>+ Nduv> 0D000D0000ds® =
@m¢m<§ g)(ﬁ)DDDDDDDDDDDDDDDDDDDDDDDDD?DDDDDDDDDDDDD
ooooo

0000 0000000000000000000000000000000000000000000000000
00000000000000000000000000000000000000000000000

000 0O0097000080000000 POOOOODOO A,A 000000000 v;,v.000000000
O0000000 000000000000 10000000000000 k,(v) 00000000 i, A2 O
00 (vOOOODOODOD)0O0O0OO0000000O0k;(v;)=X 0000000000000 »; 00000

000 0000000O0/=00000000000000

0000 000O00000000000000000000 /000000000E000000000000000
000000000000ds? 0000000000000000000000000



ooooooooo 11 2

000 000 R*O0O000O00O000000000O00O00O0000000000

0000 00000 R0O00000000000000 H2-KOOOOOOOOOOOOOO 940000000
oooQ

000 000000000 00000000000000000000000000000000000000000
ooooo

0000 000000000000 00000000000000000000000000000000000000
0000000000 B-50000000000000000000000000O0

000 0O0000000000000000000000000000000000000

0000 000000000000 0000000000000000000000000000000000000
00000000000000000000000000000000000000000000000000

000 H=0&00000O0O0O0O00000O0000O0000000000

0000 0O09I1200H=0< da=—-\"0

000 000000000000000000000000000000000

0000 0000000000000000000...011= Ldu’+2M dudv+N dv? = p(adu+bdv)(pdu+qdv)
0000000dE =adu+bdv, dp=pdu+qdv 000 & n 000000000 00000000000
0000000 ¢ »p0000000000000

000 Span{pu,p,} 0 Span 00O OD0DODODO7

0000 00000 span. The vector space spanned by {p.,p.}. = The vector space generated by {pu,po}.

000 0000000000000000O00000000000007? 000000000000

000 e =2¢000000a,b,¢c€0,9,a,beZ2000000 ¢5,%, 2, 20000007

0000 00000000000000000000...

000 DOO000. OO000Ome, too.

11 DOO0O0O0O0ooDoOOoOooon

e J0O0O0OOOOOOOCOOOODODOO 85,00 11.10
e JIJ0DODDDOOODODODO (11.10)0
e 100

0o

11-1 0000 2000000000000000O00DOOOO0O

11-2 0000000000000 0DOO0O0DOO0OO

11-3 00000000000 ds? =du?+2cosfdudv+dv? 000000000000000 00 (u,v)
gobooboobobooboobooobooboobboo

11-4 00000000p(u,v) = (z(u) cosv, z(u) sinv, z(u)) 000 (z(u),2(u) 000 « 0000000
00000000000 z(u) > 00
(1) o000 (w,v) DOODODCODOODUOOODODOOODODOODOO
(2) OO0

(z(u), 2(u) = (efu,u —V1—e2v 4log(l+V1-— 6—2“)> (0 <u<o0)

goboooooooooocoobooooooon

20160 10 120 (20160 10 13000)



